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Please check that this question paper contains 8 printed pages and 2 pages of maps.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-bock by the candidate.

Please check that this question paper contains 26 questions.
Please write down the Serial Number of the question before attempting it.

15 minutes time has been allotted to read this question paper. The question paper will be
distributed at 10.15 am. From 10.15 am. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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General Instructions :
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There are 26 questions in all.
All questions are compulsory.
Marks for each question are indicated against it.

Question numbers 1 to 10 are very short answer questions carrying 1 mark each.
Answer to each of these questions should not exceed 20 words.

Question numbers 11 to 20 are short answer questions carrying 3 marks each. Qut
of which one question is a value based question. Answer to each of these questions
should not exceed 80 words.

Question numbers 21 to 25 are long answer questions of 5 marks each. Answer to
each of these questions should not exceed 150 words.

Question number 26 is related to identification or locating and labelling of
geographical features on maps.

(viii) Outline maps of the World and India provided to you must be attached within your

(ix)

answer-book,

Use of templates or stencils for drawing outline maps is allowed.

1. “GZHT U Harsdt 1 arel Iy | 1

Give the meaning of ‘retail trading’ services.

2. ORT % U TR & 6 3 TR0 AT | el=
Give any two examples of ancient towns of India.

3. ‘Hew meFRd 1
What is truck farming ?

4, 3 NP F B % TS FR H IFeTE HIAT | 1

Mention the root cause of “acid rains’.
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11.

12.

13.

14.

3T favreien” & 37 SR | | 1

Give the meaning of ‘digital divide.”

Wwﬁﬁwaﬁm%mmnﬁmwwmwu

Name the seaport which was constructed to reduce the congestion at Kolkata port.

ARA F TIQ o2 AIileh WEHER <9 1 19 Fq5y | 1

Name the country which is the largest trading partner of India.

T o Y YL YIS o afear i | 1

Define the term ‘Hinter Land’ of the port.

ﬁwm%m@%ﬂﬁwﬁ%mw |

1,1 _
3 + 7= 1

Name the seaports on each end of Suez Canal.
e T Ve A e i | 1

Define the term ‘road density.’

“oiferer itet ST W it % et 3 HeT WY SrAIRAT Bt & 7 T o B SRR
RTEXOT e gfie HAT | 3x1=3

“There is mutual interaction between the elements of Physical Geography and Human
Geography.” Support the statement with suitable examples.

“feifites yar = onf T Wi | S g % ] IR0 S | 2+1=3

Explain the meaning of ‘technopolies’. Give two examples of technopolies.

T & e S @ el o e favanet w5t s ®iT | 3x1=3

Explain any three main characteristics of mineral resources of India.

aRa s A i wEe e wt Rl §1.8) fadwaet 1 Seei R | 3x1=3

State any two characteristics each of the three distinct ‘cropping seasons’ of India.
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16.
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Differentiate between rural and urban settlements of India in three points.

TR & T WUl 30 |97 i feufy o Ram avet 119 fo w0 ome w7 srera wifse

3R 35 e fw e gt % I i 1+1+1=3
‘.rm
T -""-L""""'_
.I‘i‘f ’ r———-t’q‘;ﬁ.._,_
s
,ff \\ gt TR
& il ot o * 'ﬂ!mm
v rge feee / il
e woF
e ¥ W .
& . | ¥ YR BRI

(16.1)  TETE TIF ! TeH DT AT IHHT AW FAET |
(16.2) 39 T4 ! AR AR A a10F 17 Ay I 1 Ieerg Hivg |

(16.3) WW%WW%WWW@aﬁml

Study the diagram given below, showing the Iocahon of an 1mportant steel plant of India,
and answer the questions that follow : .

Steel Plant
orha
Bllaspur 3

Bd]dg]ldt P P - -...L |
’if [ 4 - M thi madT;n er
ff‘{ \\ Durg }7Rﬂipur L
¥ It & Sl Plant)]

Dolomite

Manganese
3 lron Ore

Coal
Tanduia ¥ Iron

Tank [ Railway

BEwl»

(16.1)  Identify the steel plant and name it.
(16.2) Mention the thermal power plant which supplies power to it.

(16 3) " Mention the source of water for thls plant.
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Note: The following questions are for the Visually Impaired candidate’s only; in

lieu of Q. No. 16.

(16.1) Which steel plant was established with Russian collaboration in

Chhattisgarh ?
(16.2) Name the thermal power plant which supplies power to this plant.
(16.3) Mention the source of water for this plant.

17. Ra ¥ J9E® TR 97 & 87 0 3532 H 9arsit & weed ©f W S

Explain the significance of internet services in the field of personal communication

system in India.

18. wRa ¥ =@, mmﬁmmﬂmmm%mmw

HfeT |

Ix1=3

Explain with examples, how the industries are responsible for polluting water resources in

India.

19. Ry g wAfe et S o sE AR R vt & 3w A
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Study the map given below and answer the questions that follow :

" Wmnipeg

~ 0

- —

i -f o
(19.1) Name the railway line shown on this map.
(19.2) Name the terminal station of this railway along the Atlantic Coast.
(19.3) Why is this railway line known as ‘economic artery of the country
through which it passes ?
AT WWW gﬁaﬁm’uﬁmﬁaﬁ%mmm19$ww
: 1+2=3

(19.1) W%WMW%@@TWW@W |
(19.2) T T 67 INTeres Hew W HiT |

C
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Note : The following questions are for the Visually Impaired candidates only;
in lieu of Q. No. 19.
(19.1) Name the longest trans-continental railway of the World.
(19.2) Explain the economic significance of this railway line.
20. ‘ot et GO % SN o amieE gl o favewm it 1 3

Analyse the economic and social values of rainwater harvesting,

21. “qe fawra 1 o4 SaRT | e fSEE & 9l Wil 6 e S | 1+4=5

Give the meaning of ‘human development’. Explain the four pillars of human
development. |
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23.

24.

25.

26.

w&r%ww@nﬁu@waﬁaﬁ%ﬁﬁﬁauﬁﬁmmﬁaﬁma 5x1=5

Describe any five patterns of rural settlements in the world on the basis of forms or
shapes.

Wﬁwfaﬁ‘mﬁmwmaq’ﬁwmﬁmmﬁmaﬁ?aﬁﬁql S5x1=54

Describe any five characteristics of ‘Commercial Livestock Rearing’, practised in the
World.

fgmféeres samr st sgafbas =R § S WL HIVC | 797 68 R I o wera
HHATRY | 2+3=5§

Differentiate between bilateral trade and multilateral trade. Explain how ports are
helpful in trade. ‘

w%mmﬁ@éﬂaﬁmmmwmﬁnaﬁ%waﬂﬁw: 5

Explain why Kerala has a higher. level of human development than other States of
India.
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(26.1)

(26.2)

(26.1)
(26.2)
(26.3)
(26.4)
(26.5)
Note:

(26.1)
(26.2)
(26.3)
(26.4)
(26.5)
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In the given political outline Map of the World, four features A, B, C and D
have been shown. Identify these features with the help of information given
below and write their correct names on the lines drawn near them.

A An important sea port

B: A terminal station of Australian Trans-Continental Railway

C: Anarea of subsistence gathering

D: The country with lowest growth rate of population (1995-2000) in Asia.

On the given political outline Map of India, locate and label the following
with appropriate symbols :

A.  The state having highest literacy rate.
B.  The leading state in the production of Jute.
C.  The northern most international airport.

Fretfetfarn e Sreret ghieantin adanfiat & foy sy Sem 26 SRR RE: 5x1=5
<héor sfiet o frafet Sueor & & 1 Sooi@ HIoT |
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The following questions are for the Visually Impaired candidates only; in lieu of
Q.No.26: .

Mention an area of subsistence gathering in South America.

Name the country with lowest growth rate of population (1995-2000) in Asia.
Which state has highest literacy rate in India ? .

Name the leading state in the production of Jute in India. .-

Name the northern most international airport of India.
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Map for Q. No. 26.2
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